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sIff M & ljifo M lj1fg tyf k|ljlw 

 

Group 'A' 

tnsf k|Zgsf] pko'St ljsNkdf l7s -√_ lrx\g  nufpg'xf];\ .  Tick -√_ the correct 

alternative for the given questions.            (151=15) 

1. j}1flgs l;sfOsf] klxnf] r/0f s'g xf] < Which is the first step of scientific learning?  

A. k|of]u experiment   B. kl/sNkgf Hypothesis  

C. tYofª\s ;ª\sng Data Collection   D.  cjnf]sg  Observation 

 

2= sDKo'6/sf] sfo{ ug]{ l;4fGtsf] ;xL j|md s'g xf] < Which is the correct order of working 

principle of a computer?  

A. OGk'6, cfp6k'6, k|f];]; Input, Output, Process   

B.  k|f];];, cfp6k'6, OGk'6 Process, Output, Input 

C. OGk'6, k|f];];, cfp6k'6 Input, Process, Output   

D. cfp6k'6, OGk'6, k|f];]; Output, Input, Process 

 

3. tnsf dWo] pmhf{sf] k|d'v ;|f]t s'g xf] < Which of the following is the main source of 

energy?  

A. Dff6f] Soil B. kfgL Water 

C. ;"o{ Sun D. xfjf Air  
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4= tnsf dWo] km"n gkm'Ng] la?jf s'g xf] < Which of the following is non-flowering plant?  

A.      B.  

 C.      D.  

5.  kmf]S;f]n] h:t} sfo{ ug]{ df5fdf EfPsf] :jf; km]g]{ cª\u s'g xf]\ < Which organ in fish works 

as lung ?  

A. 5fnf Skin B. Zjf;gnL Trachea 

C. luN; Gills  D. kmf]S;f] Lungs 

 

6. lbOPsf] lrqdf s'g hLjg k|lj|mof b]vfOPsf] 5 < Which life process is shown in the given 

picture?  

  

 A. pT:j]bg Transpiration    B. Zjf;k|Zjf; Respiration 

      C. k|sfz ;+Zn]if0f Photosynthesis     D. kl/jxg Transportation  
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7. lbOPsf dWo] ansf] SI PsfO s'g xf] < Which of the following is the SI unit of force?  

A. lsnf]u|fd Kilogram B. Go'6g Newton 

C. ld6/ Meter D. ;]s]G8 Second 

 

8. lrqdf km'jf{n] es'G8f]nfO{ PSsf;L 

kf]:6tkm{ lxsf{Psf] / bfjfn] ;dfpFb} 

u/]sf] b]vfOPsf] 5 . In the given 

figure, Furba suddenly shot out the ball 

towards the post and Furba is catching 

it. 

 

ansf] sf/0fn] es'G8f]df s:tf] 

kl/jt{g x'G5 < Which type of change 

occurs in football due to force? 

A. cfsf/ shape   B. ;fOh size 

C. ult speed    D. cj:yf state 

9. lrqdf k|sfz;DaGwL b'O{cf]6f lj|mofsnfk b]vfOPsf] 5 . klxnf] lj|mofsnfkdf d}gaQL b]lvof] 

eg] bf];|f]df b]lvPg . oL lj|mofsnfkaf6 s] lgisif{ lgsfNg ;lsG5 < In the given figures, two 

experiments related to the light are shown. In the first experiment, candle is seen but not in the 

second experiment. What conclusion can be drawn from the experiments? 

 

     A. k|sfz l;wf /]vfdf k|;f/0f x'G5 . Light propagates in a straight line. 

     B. k|sfz aj|m/]vfdf k|;f/0f x'G5 . Light propagates in a curve line. 

     C. k|sfz h'g;'s} /]vfdf k|;f/0f x'G5 . Light propagates in any type of line. 

     D. k|sfz k|;f/0f x'Fb}g . Light does not propagate. 
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10.  lbOPsf] s'g ;d"x kfgLdf kfOg] hLjx¿sf] ;d"x xf] < Which  of the given groups of 

organisms is found in water?  

A. ;fnfdfG8/, uf]xL, pGo', lnnL Salamander, Crocodile, Fern, Lily 

B. ;fnfdfG8/, 5]kf/f], pGo', u'nfkm Salamander, Lizard, Fern, Rose 

C. ;fnfdfG8/, uf]xL, sdn, cNuL Salamander, Crocodile, Lotus, Algae 

D. ;fnfdfG8/, 5]kf/f], u'nfkm, lnnL Salamander, Lizard, Rose, Lily 

 

11. s'g} j:t' jf 36gf;Fu ;DalGwt j}1flgs l;sfO k|lj|mof s;/L ;'? x'G5 < How does 

scientific learning start about any object or event ? 

 A. k|of]ufTds sfo{ u/]/ Through Practical work 

  B.  j:t' jf 36gfsf] ljZn]if0f u/]/ Analysing object and case 

  C.  s'g} j:t' jf 36gf b]Vbf pTkGg x'g] lh1f;faf6 Curiosity developed while observing an 

object or event 

  D. j:t' jf 36gf;Fu ;DalGwt tYofª\ssf] ;ª\sng u/]/ Collecting data about an object or 

event 

 

12. kq] r6\6fgsf] ljz]iftf s'g xf] < Which one is the characteristics of sedimentary rock? 

A. hLjfjz]if kfOG5 . Fossil is found.  

B. k[YjLsf] leqL efudf kfOG5 .  Found inside the earth. 

C. nfefaf6 ag]sf] x'G5 . Formed from lava. 

D. cGo k|sf/sf r6\6fgeGbf s8f x'G5 .  It is harder than other type of rock. 

 

13.  lbOPsf dWo] tfdfnfO{ ljB'tLo tf/ agfpg k|of]u ug'{sf] sf/0f s'g xf] < Which of  the 

following is the reason of using copper to make electric wire? 

A.  tfdfnfO{ lk6]/ kftf agfpg ;lsG5 . Copper is malleable.  

B. tfdf ljB't\sf] ;'rfns xf] . Copper is good conductor of electricity. 

C. tfdf tfksf] ;'rfns xf] . Copper is good conductor of heat. 

D. tfdfnfO{ yf]/} tfkj|mddf kufNg ;lsG5 . Copper can be melted in low temperature.  
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14.  /f]lhgfn] sfutL / ltt]kftLdf s'gdf cDnLo / s'gdf Iff/Lo u'0f 5 egL k/LIf0f ug{ 

lkmgNKyflng k|of]u ul/g\ . tnsf dWo] s'g glthfn] k/LIf0fsf] ;xL glthf hgfpF5 <   

Rojina uses Phenolphthalein to check which of lemon and mug weed has acidic property and 

basic property? Which of the following results shows the correct result?  

  A. sfutLsf] /;df /ª kl/jt{g ePg t/ ltt]kftLsf] /;df u'nfkmL /ª eof] . Lemon juice 

does not change color but mug weed juice turn pink.                       

 B.  sfutLsf] /;df /ª kl/jt{g ePg t/ ltt]kftLsf] /;df kx]Fnf] /ª eof] . Lemon juice does 

not change color but mug weed juice turn yellow.        

 C. sfutLsf] /;df u'nfkmL /ª t/ ltt]kftLsf] /;df /ª kl/jt{g ePg . Lemon juice turn pink 
but mug weed juice does not change . 

 D. sfutLsf] /;df kx]Fnf] /ª t/ ltt]kftLsf] /;df /ª kl/jt{g ePg . Lemon juice turn yellow 
but mug weed juice does not change color. 

 

15. ;fa'g / l86/h]G6df ePsf] ;f]l8od tŒjn] kmf]xf]/ ;kmf u5{ . l86/h]G6n] ;kmf u/]sf] n'uf 

;fa'gn] ;kmf u/]sf] eGbf a9L ;kmf b]lvG5 . oL tYosf cfwf/df s'g egfO l7s 5 < 

Sodium element present in soap and detergent cleans the dirt. Cleaning with detergent looks 

cleaner than cleaning with soap. Based on these facts, which statement is correct?  

A. l86/h]G6 ;fa'geGbf a9L 3'ngzLn x'G5 . Detergent is more soluble than soap. 

B. ;fa'g l86/h]G6eGbf a9L 3'ngzLn x'G5 . Soap is more soluble than detergent. 

C. ;fa'g / l86/h]G6 a/fa/ 3'ngzLn x'G5g\ . Soap and detergent are equally soluble. 

D. ;fa'g / l86/h]G6 b'a} kfgLdf 3'ngzLn x'Fb}gg\ . Soap and detergent both are not soluble. 
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Group B 

16. lbOPsf j}1flgs l;sfOsf r/0fx¿nfO{ ;xL j|mddf ldnfP/ n]Vg'xf];\ . Arrange the given 

steps of scientific learning in correct order.     (1) 

 

 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………… 

17. hf8f]ofddf s's'/ 3'ld|P/ a:5 . o;f] ugf{n] s's'/nfO{ s] kmfObf x'G5 < In winter season a 

dog curls into ball. How is the dog benefited from it?                  (1)                                        

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………… 

18.  kf]v/Ldf k'mn]sf] sdnsf] km"nsf] a]gf{nfO{ udnfdf ;f/]/ k'mnfpg g;Sg'sf] Pp6f sf/0f 

n]Vg'xf];\ . Write a reason that unable to grow the plantlet of the lotus flower in the garden 

pot.        (1) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………… 

19. s'g} kfl/l:ylts k4ltdf ljR5]bs gx'g] xf] eg] s:tf] k|efj k5{ < What impact can be seen 

in an ecosystem in the absence of decomposer?                                 (1)

 …..…………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………………….……………… 

20. lrqdf lbOPsf ;/n oGqsf] gfd n]Vg'xf];\ . Write the name of the simple machines shown 

in the picture. (1)  

            

 lrq ……………………………………… 

 

 

 

 

 

 

k/LIf0f ug'{ (Experimenting), eljiojf0fL ug'{ (Predicting), cjnf]sg ug'{ (Observing), 

lgisif{ lgsfNg' (Concluding) 
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21. ;lGbk laxfg ( ah] / !! ah] 3fddf pleFbf pgsf] 5fofdf s:tf] kl/jt{g b]lvG5, lrqåf/f 

b]vfpg'xf];\ . What change in the size of shadow does Sandip observe when he stands outside 

in sunlight at 9 am & 11 am? Show it by diagram.  (1) 

 

 

 

 

 

 

 

 

 

 

22. pDng] tfkj|md ;dfg ePsf cjojx¿ ePsf ld>0fnfO{ cf;jg lj|mofåf/f 5'6\ofpg 

;lsFb}g, lsg < A mixture made of components having same boiling points cannot be 

separated by distillation process, why?         (1) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………… 

23. cfhef]ln kof{j/0f ;Gt'ngsf nflu sk8fsf emf]nf k|of]u ug{ a9L hf]8 lbOG5 . o;f] ubf{ 

jftfj/0f k|b"if0f s;/L lgoGq0f x'G5 < Now days use of fiber bags are encouraged for 

environmental balance. How does this control environmental pollution?   (1) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

…………………………………………………………………..……… 

24. k"mn k'mNg] la?jfsf] k|hgg\ cª\usf] gfd n]Vg'xf];\ . Write the name of the reproductive organ 

of a flowering plant.       (1) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………………… 

25. lgoldt k/fjt{g / clgoldt k/fjt{glar Pp6f leGgtf n]Vg'xf];\ . Write a difference 

between regular reflection and irregular reflection.    (1) 

…………………………………………………………………………………………………

…………………………………………………………………………………………………

………………………………………………………………….……… 

 


